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Instructions :

sflurisgé Qarareray. HFsLUHND GopuilmUle, simns
samsresfiuurerflb 2 L enqwinsd Qgflelsseyw.

fab owag smly ewulear wlHGW awgusHEGU LLaUBHES
Geugr(Hd. UL EISET auenreugn@h, SigsGamgheugh@d Quenslead

LweTUHSSeLD. 1 e

o ;-; 4
Check the question paper for fairness of prmtmg If theré.,lgaipy lack of
fairness, inform the Hall Supervisor immediately. *?{ o

Use Blue or Black ink to write and underline and pencil to draw’ %ams

GolLY : Cazameuwrer GL SO UL eueThs SLATUTH&MET CT(HSHIS.

Note :

Gvluy

Note :

Draw diagrams and write equations wherever necessary.

(i)

()
()

u@&é) - 1/PART -1

SIS eamEsEns@n el wallssab. _ 30x1=30
Qar@&siulL BresE eleLsafld Wlsayd ghyeLw e Wemen
CarbOsHEeH GO Hier Gﬂma_uﬂl@wu_lm Carsg eT(PFHIS.

Answer all the questions.

Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1.  ep Gyr bgGsemen Zn/NH, Cl Qaran(h ehisHamd S liug) :

(1) CH; NH, () C; HsNH,
(&) CH, NHOH () C,H;COOH
When nitromethane is reduced with Zn/NH, Cl, we get :
(a) CH,NH, (b) C,H;NH,
() CH,NHOH (d) C,Hs COOH

2. ergdlden flenenganed Pl o e elevenfihg Smeug :
(1) ICH,-CH,I (=) CH,=CH, (@) CH,=CHI (fr) ICH=CHI
The reaction of ethylene glycol with PI; gives :
(@) ICH,~CH,l (b)) CH,=CH, () CH,=CHI (d) ICH=CHI

3. wrejlLen ellHulelmbg s pgierer B
(1) e GrrgCarrfis sl () sy é ibewn

(@) umevurflés Blevd (FF) 2898 ojbleld
The liquid that deviates from Trouton’s rule is : :

(a) Hydrochloric acid (b) Sulphuric acid

(c) Phosphoric acid (d) Acetic acid

4. Sawe| erawr pren@, Clsraw. GarwgHnsrer Freny :

(1) K4 [Fe (CN)g] (<) [Co (en)3] Cly

(@) [Fe (H,O)4] Cl, (/) [Cu (NHy),] Cl,

An example of a complex compound having coordination number 4 :
(a) K, [Fe (CN)4] (b)  [Co (en);] Cl,

(c) [Fe (H0)] Cly (d) [Cu (NHy),] Cl,

5. eoLGwsde mllomamwu Gl e bafler IUVPAC Quuwr ;
(1) 2-20CGanm-3-Clngdled ¥y, Cren
(=4) 2-(N-CQwsdHe> 0Cenm) Gy, G
(@) 2-(N, N-enLGwgdHer dCarr) Gy CLen
() 24N, N-anL Qugdler 2flGarm) yCrmuCuen
The IUPAC name of dimethyl sec. butylamine is :
(a) 2-amino-3-methyl butane
(b) 2-(N-methyl amino) butane
(c) 2-(N, N-dimethyl amino) butane
(d) 2-(N, N-dimethyl amino) propane




3 6683

FlDLD HISTHEHESTET 1§ GLTED elenerallhH(@ HTTERTLD :

(=1) gofl 2 Dliehaze (%) pofl elwsd

(@) qefléflgme () besew @HULSTEL
The Tyndall’s effect associated with colloidal particles is due to :

(@) absorption of light (b) reflection of light

(c) scattering of light (d) presence of charge

Spssam_aubmer orgl eren Crmiew mfsfasrg ?

(31) senraedler o emerm &&CITensF LIgELOTEESe

(=) BGOY 695D

(@) uessgerw Hrrs LIHHIS

(/F) SDYTISMS USRSLIEEGSD

Which of the following does not result in an increase in entropy ?
(a) crystallisation of sucrose from solution

(b) rusting of iron

(c) conversion of ice to water

(d) vapourisation of camphor

sruulr sOGUL Brésarsgier oifs e ufl serey KON Gsid@w (umws)
2 (Heum@o G&mow :

(1) Cuy (CN), (<) K [Cu (CN)¢]

(8) K[Cu (CN),] (FF) Cu, (CN),+(CN),

Which compound is formed when excess of KCN is added to an aqueous solution of
copper sulphate ?

(@) Cuy (CN), () K, [Cu (CN)g]
(¢) K [Cu (CN),] (d) Cu, (CN),+(CN),
KU elsm oo Hulrrea o Hleps sy Xe!®, g5t wHpL x

QenarQurmLsamats SmHEADG. Qo x eranug :

(1) 2 By yrensar (=) 3 By yrensen

(8) o- giser () B- g6

92UZ® nucleus absorbs a neutron and disintegrates into sy Xe!®, 23Sr° and x. What

will be the product x ?
(@) 2 neutrons (b) 3 neutrons
(c) «- particle (d) B - particle

[ $®mLys / Turn over
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10. fl&7 ePEST Senwenw lereu(Hbd QUL I 6 PPEVLD

&S LmD.
(@) 2°=S-Z (=) Z°=Z+S (@) z=2"-5 () Z°=Z-5S
Effective nuclear charge can be calculated by using the formula :

@ Z'=5-Z b)) Z°=Z+S () Z=2Z'-S d Z*=Z-5

11, 2H0 +2Cly,) = 4 HCly, + Oy cTenD F0BIOQOEE; :

(S1) Kp=K, (@) Kp>K, (&) Kp<K, (") Kp =3
2H,0 gy + 2Cly ) = 4 HCl gy + Oy for this equilibrium :

1
@ K=K ®) KK ©  Kp<kK @ Kp =g

12. &Gerfl Bl tser gurfiss vwatuBw @erBlaws gaflw :

(1) Cr (<) Ni (&) Zn (/7) Cu
The transition element used for making calorimeters is :
(@) Cr (b) Ni (¢) Zn (d) Cu

13. &pssamcupmier erdled alpuigeurs@Gee Gewe Gldoena?
(=) sapowrsdlenw LWETUHSSHISHD
(=) QLT 2 (Heurged
(®) ugstrses LvwaTLBSSH Ggberr FniewLWLTESD
() Lreflenar uwau®sH Cared usfl(HH®
Which one of the following processes does not involve coagulation ?
(a) Peptisation
(b) Formation of delta

(c) Purification of drinking water using alum
(d) Tanning of leather using tannin

14. yrsmsefien SL_(HLOTET APO&SDISET :
(&) o - @aplgréedl e (=) a - SACeT Bjblewd
(@) 8 - eaplyréedl Bjbled () B - 20Cem 2ybleoid
The building block of proteins are :
(@) «-~hydroxy acid (b) «-amino acid
(c) B -hydroxy acid (d) B -amino acid
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16.

17.

18.
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S Wse was daandean s@rarnpey Gpro 10 Rl tiser erafld, Sigen
NenenrGeus Lomdled :

(<=1) 6.93x10? min (=) 0.693 %102 min 1
(@) 6.93x1072 min~1 () 69.3%x10°1 min~1 |
The half life period of a first order reaction is 10 minutes. Then its rate constant is :
(@)  6.93%102 min~1 (b) 0.693x10~2 min~1
() 6.93%x10"2 min~! (d) 69.3%x10"! min~!

2,&Csm Coir Swaflamer o (HaursGuae

(S1) rhsenet(Haer (=) D &Iq @ (HSET
(@) ewflu eurysser () &y 2 Gonsmser
Oxocations are formed by :

(a) Lanthanides (b) Actinides

(c) Noble gases (d) Alkali metals

Spssam_auppier o7y GefiEsHAL LaTL®LLIE ?

(<4) CHy CH, COOH (<23,) HOOC —CH,~COOH
(@) CH, CH (OH) COOH () Cl, CHCOOH

Which of the following compound is optically active ?

(@ CH,CH,COOH () HOOC-CH,-COOH
(¢) CH,; CH (OH) COOH (d) Cl, CHCOOH

C, H; OC, Hs, CH3—O—CiH—CH3 QeuefiLuP&EID WrHHlwLd :

CH,

(=) dlevandQewe GgrEd (=) Qenemr wrHblwLd

(&) @Lw (rr) siudleds Ggri

The isomerism exhibited by C, H; OC, Hs and CH,-O-CH-CH, is:
CH,

(a) functional (b) metamerism

(c) position (d) chain

[ Smliys / Turn over
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19.

20.

21.

22.

6

Qrssw 2 dngme easGEEWL Gafow
(1) K;SO Al (SO,)5-4Al (OH), (@) K;SO0 Al (SO,)524A1 (OH),
Name the compound employed to arrest bleeding.

(a) K,;SO4 AL (SO,);4Al (OH); (b)) K,SO,-Al (SO,),24Al (OH),
(c) K,S0,Al (SO,),4H,0 (d) K,SO4 Al (50,),24H,0

SO ManeL. Leugwrseamed HeLliug) :

(31) uMTT LTI aD([H (=) urgredigeman®
(@) umiwedler (FF) oouniié idleid
Formaldehyde polymerises to give :

(a) paraformaldehyde (b) paraldehyde

(¢) formalin (d) formic acid

@anl_ Crr@Garmié siflasems Comgwib sriuGer HLar Srib UniéEn Gurgy
Hwetu(Bssuun Hinksriyg.

(=) QumiLrdlwn QuiwrisGear_

(=) SemrerigeSen

(@) Senred Seulsy

(rr) QwsdHed B7EHE

For the titration between hydrochloric acid and sodium carbonate, the indicator used
15 ¢

(a) potassium permanganate

(b) phenolphthalein

(c) phenol red
(d) methyl orange

Gl @Quipdly ursrisea swrflés LwaTL@L Mg -ar 2 Carsssmaey oTE ?
(1) 3% ey 2 Garad whmw 0.1% Zr.

(=) 30% Wy 2 Corsnd wHmID 1% Zr.

(&) 30% ey 2 Carsw wHmD 0.1% Zr.

(rF) 3% Weiy 2 Carsd wHMD 1% Zr.

Which Mg alloy is used in making parts of jet engines ?

(@) 3% Mish metal and 0.1% Zr.

(b) 30% Mish metal and 1% Zr.

(¢ 30% Mish metal and 0.1% Zr.
(d) 3% Mish metal and 1% Zr.
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24,

25.

26.
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N, +3H, = 2NH, eranp swplerauiier Sifls erey SiwCureflur HeLiug) :
(=1) G@DbHe SN(WssD s Ceuliuflea

() GPOES SiWssd G@NHS Gauliuflae

(@) 2ifs AWYsHL Gophs Geuliuflaa

() =2dls SiWssd Hs Qeuliuflena

In the equilibrium N, + 3H, = 2NH,, the maximum yleld of NH, will be obtained with
the process having :

(a) low pressure and high temperature
(b) low pressure and low temperature

(c) high pressure and low temp;arature
(d) high pressure and high temperature

grul@CGanmanen Brrpu@ssTed e g

(=) Qe @heop siés@T

() epenpy @pon sTs5@Y

() om QrieL sid&semy LWOHMD G RHD FTESDT
() @raw® @henn Fi&smr WHMID @ QT dL FT&Es®F
Raffinose on hydrolysis gives :

(a) two monosaccharides

(b) three monosaccharides

(c) one disaccharide and one monosaccharide

(d) two monosaccharides and one disaccharide

epessadlgyer Hlawn H - Geemrdparer sremmy :

(1) 0 - epl_Crr Senred (=) m - vl Gy Sermed
(@) p- Bl Crr Semed () Senmed

The intramolecular hydrogen bonding is present in :

(a) o-nitrophenol (b) m-nitrophenol

(c) p-nitrophenol (d) phenol

NaCl ugssdlér Na* waflew @pigiearer Cl- swellsafan cranaflsms :

(1) 6 (=) 8 (@) 4 (/F) 12
The number of chloride ions that surrounds the central Na* ion in NaCl crystal is :
(a) 6 (b) 8 (c) 4 (d 12

[ HwUys / Tum over
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27.

28.

29,

30.

8

T HNO; whmib <y H,50, seveneuwyi_en sieflCamed F(Heug) :

(1) yrCgir el G el Gamray

(<) umrr eoml Crr el Game

(&) = Car wpmb urgr bl Crr el Game

(F) Quiir ep Crr eiafGsrd

With a mixture of Conc. HNOj; and Conc. H,SO, Anisole gives :
(a) ortho nitro anisole

(b) para nitro anisole

(¢)  ortho and para nitro anisole

(d) meta nitro anisole

sp? @end selienLi Wupdlmhésrs owafl

(<) CO2™ (<) sO3" (8) NO; ()
sp? hybridisation is not presentin ____ ion.
(a) coj (b) sof () NOj (d)

2 Bensaflen smy veRrYh@é sryesid -

(<) premupdl eenwiiy

() @prgen gy Quiugrd

(@) eplrmeligeaar safl crad_rrar @rien
() enmlygmeflen 2w erevsi_grem HEUTE 6N
The basic character of amines is due to -

(a) tetrahedral structure

(b)  presence of nitrogen atom

(c)  lone pair of electrons on nitrogen atom

(d)  high electronegativity of nitrogen

SETULITET H6ull SaDingdlne, srenmy -

(=) senruiuralle o drer 2 Coraw (<21,) Bfle 2 cimem s
(@) Qgengen (/) Fe (OH); #aipiotb
An example for lyophilic colloid is

(a) colloidal solutions of metal (b)  sulphur in water
(c) gelatin (d)  Fe (OH); colloid
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u@S - 11/ PART - II

@iy : () aCsgubd uSomebg famssErss ool waissaLb. 15x3=45

Note :

31.

32.

33.

34.

35.

36.

37.

38.

39.

(i) gaCeurm edamelpEL @am bvag Bram@ arsdubsaiao
el wefl&gEeb.

(i) Answer any fifteen questions.

(ii) Each answer should be in one or two sentences.

Qapwisearuis Hlaaudidar COsTaramsemu eT(HEIs.
State Heisenberg’s uncertainty principle.

sriuafen sweaflurs@n hpéd Currraer edlL & et ?
Ionisation energy of Carbon is more than that of Boron. Why ?

QerCun srdeuad LpH GHILY THS.

Write a note on plumbo solvency.

H, P, O, -6 erav&L_ymes LaTail eumiLiLim_ig 6heum euenis.
Draw the electron dot formula of Hy P, Os.

@eoLflows sallomsd o Carss swmeasmer 2 (HouTsGag erem ?
Why do transition elements form alloys ?

GCrmbupand yase Luphl Anp@oliuy wers.
Write short note on chrome plating.

13AIY + ,He! — 14610+ H'+Q eramp 2 Lsmellmanufer Q wilmus
saTL &,

13A%, SHet, 5%, H' 8 veupdler sfwrer Hepser peopCu
26.9815 amu, 4.0026 amu, 29.9738 amu, 1.0078 amu <,GW.
Calculate Q value of the following nuclear reaction.

13A12?+ 2HE4 — 14Si30+ 1H1+Q

The exact mass of ;5Al1% is 26.9815 amu, 145i%0 is 29.9738 amu, ,He* is 4.0026 amu
and ;H' is 1.0078 amu.

s bensLsHscllan gCe@UD apep LILIGTSMET 6T (PSS,

Write any three applications of superconductors.

eram_Grma eTEImIe) Grefiall ? BIFHE HVGESDETE oD
What is entropy ? What are its units ?

[ sy / Turn over
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40.
41.
42,
43.
44.

45.

46.

47.

48.

49.
50.

51.

10

QFTLWm Qerarensenwds ENOT:S
State Le Chatelier’s principle.

Gumell (5 euers ellenan aranped erenar ? TREHISSTL(H &(H5.
What is a pseudo first order reaction ? Give an example.

iradafluey swatur yeer awd aloréss.
Write the Arrhenius equation and explain the terms.

S DIOLOMEHED CTEIDTED eTeer ? TRSSSSTL(D H(ms.
What is peptisation ? Give an example.

ClamenL freem gL g6 ppeim) WPé&EWSGIUSHISWD 6T(PEIS.
Write three significances of Henderson equation.

QarardlGumor whmib Lwirevig AGWmoisaier gCs@b apenny CeupurBaener
TGS

Write any three differences between enantiomers and diastereomers.

osapre dfsari@ srefsE soriurams LuaL@sSs WPwrs,
STTERID Fnf). |
Alcohols cannot be used as a solvent for Grignard reagent. Give reason.

GLrgeiaflafimbs Quenanse <y dsanTd creuaumg swirilssLuGfpg ?

How will you prepare benzyl alcohol from toluene ?

Crreenoam’ @@ss0 aamnred erarar ? i BaSO, Gsfuugenr Cprésibd
ereuan ?

What is Rosenmund’s reduction ? What is the purpose of adding BaSO, in this
reaction ?

Bsersd sweman(® A Law®embs ereuaumy swrflssLuBdng ?

How is methyl cyanide obtained from acetamide ?

sTAAGL grallew®h Qgressa LH (PSS
Write about Gabriel phthalimide synthesis.

srwisatiar gCGasayb epearmy Anldwdyseer T(PFIS.
Give any three characteristics of dyes.
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LU@S! - 111/ PART - 111

@OuY : geauGeur@m Wfeladmpgsbd @Geonpsulsd QQuwm darssaas
GsipOs®hss aGsamubd aup SamssensE oleaweallésaw. 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.

9fley - 3 / SECTION - A

52. GrLeflgen wmmwb Cgrwfler Cergenamenws efleurfl.

Describe the Davisson and Germer experiment.

53. oigenenL L gngedled(mbg Hoeui ereueurny AAsC0sREsLLEEDS ?

How is silver extracted from Argentite ore ?

54. arpgea(d Gnsssdean ellenaro smen eSS,

Write the consequences of lanthanide contraction.

55. £&8 STAIMISEHL6N Benemeywmbblwubd whHmb Swelurssd wrhfiukgamer
- elend@s.

Explain coordination and ionisation isomerism with suitable examples.

\9fey - &y, / SECTION - B

56. &sLlger gope G -6 AplulGludyser wrened ?

What are the characteristics of free energy, G ?

57. PCl; SlemgauerLwyd slevans@ K, wpmibd K, wrdlels@résran swenmigener
au(medl&&6y LD,

Derive the expressions for Kp and K_ for decomposition of PCl;,

58. ell@ancuensuien HpNwoysear wreney ?

What are the characteristics of order of a reaction ?

[ Sipliys / Turn over
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. . . . 2 . .
59. 0.01 M Cu?* -g& Qanamgmé@n Cu (a’:”/(:u{s) Sorsvgdlen emf.=+0.301 V.
Qs S emf. -@& sasd(Hs.
The e.m.f. of the half cell Cu;:;]/’(:u{sl containing 0.01 M Cu?* solution is +0.301 V.
Calculate the standard e.m.f. of the half cell.

9fley - @ / SECTION - C
60. SCrTLTLRE LHDL BT I4E FHTHEEEHmLCL 2 dter CoumurBser
BSOS SO,

Give any five differences between aromatic and aliphatic ethers.

61. Yemeumd edlenasenet 655

() demoensen RHEEHWD (i) GQurélemev eSlenes
Write the following reactions :
(i) Clemmenson reduction (i)  Perkins reaction

62. &TTUT&ESlNs S, Yyosapragiear YAyb aaLrré@sed ofearud e
auflpemeniy er(pgs.

Write the mechanism involved in the esterification of a carboxylic acid with alcohol.

63. LW&SE WHBGISE uDd HGOY P s.
Write short notes on anaesthetics.
U@ - IV/PART - IV
@Oy : () Owrssd mrenE NamésEnss oL welssaybn. 4x10=40
(i) eSlewrm erawr 70 -&@ sLLmwwns el welssuur e Gouam@Lw.
Bpperer ellemésefies gCagud epeipy AarEsEES

eflenL_wefl&sayib.
Note : (i) Answer four questions in all.
(i) Question number 70 is compulsory and answer any three from the remaining
questions.

64. (=) urdliy eple Sweall Briws saTsHBHL Waopaw olersss.
() ewflu ewrysser FrvGev-rrCe wepulée aaeury srhblembs
YfsCsHssLLBEamen eraruang eSleuf.
(a) Explain Pauling method to determine ionic radii.
(b) Describe how noble gases are isolated from air by Ramsay-Raleigh method.




65.

66.

67.

68.
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(1) Qeewdinen Geenuy Gsratsew uwaTuSSH [Ni(CN), ]~ erwr
&TH&S sanew dsrarLg, [Ni(NH;),J** Gurrerbss sarew CQararg
erenueng Hlemlal.

(=) sHNwss sriuer sre HliewTw permenw éﬂmé&@&.

(a) Using Valence Bond theory prove that [Ni(CN),]2~ is diamagnetic, whereas
[Ni(NH,),J** is paramagnetic.

(b) Explain Radiocarbon dating.

(<24) sarantmiguilen gemenerw efleufl.

(=) @unbwe uglys seaursflagw, Caudullud uriiyg seursfsguperar
CaumurH&eT wreney ?

(a) Describe the nature of glass.

(b) What are the differences between physical adsorption and chemical adsorption.

(31) Speveureigen Bisse ellflanw eflerdes.

(=) Bensagdanar GHUGL vweru@d IUPAC aflflupepsamer GHiLICGHs.
(a) Explain Ostwald’s dilution law.

(b) Mention the IUPAC conventions for writing cell diagram.

(31) euemerw Clanssamellen cus emwULsemer eleufl. sieubdlen
flenavggenenwerw GHUAHS.
(=) Yemeumid wrHmmseT ereucurm Hlapdleamen ?
(i) &mellflells bl — oy evGfien
(i) &rellflells e - Bsmsd sTalfGaL.
(iii) wrfdlé dleow - urfwerw
(a) Describe the conformations of cyclohexanol. Comment on their stability.
(b) How are the following conversions carried out 7
(i)  Salicylic acid — aspirin
(i) Salicylic acid — methyl salicylate

(i) Formic acid — formamide

[ Hmiys / Turn over
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69.

70.

14

(1) opLrev sdlow gliearw, rllaarw, apelleramu owbemsEnLen

ereueunm ellenan Lfldlemmg) ?

(=) GEnsGardler Henwlibenar Hlapdl.

(a)
(b)

How do primary, secondary and tertiary amines react with nitrous acid ?

Elucidate the structure of glucose.

(1) CgHg O eranm ppeédam cumuur®h Gerame. Gerwid (A) BHflene Qurfls

@GarreorHiLen eargr flmseng smémg). Cemwb (A) CHCl, whmd NaOH
2 L e amUEHD QuTpg Qram® mGeTwiser (B) whmib (C) enwd smEs.
Gemowb (A) 2Ler L wGambgCaen amésarse Cers@w@urwg (D)
eranm ey SHEmG erafier (A), (B), (C) wpmib (D) -B& sewrLflbg
clenaaener 6r(pg)s.

(<) (A) eramm 2,7@5& Sauly Him LKED, @ audlianw WG sHRCaDHH.

(&)

Ceirwod (A), QurmiLrilwd GCearrer® wHHYL LT oy Ms
SiflsgHLa Severyfibg, Slmaperer eury (B) evw GeuefledBdpg. KOH
o Lan (A) eflewenrfipg (C) eretim w@rger Him sengaed Qupliu@Eng erafle
(A), (B) wpmb (C) -g& saTLNBF llenansena eT(pgis.

36060

C, H, O aranm epawssmm eumiuur@enw Gerwbd (A), C, Hy N erenm
ppessnm eumulur@erw Ggrwb (B) ew e fled sepsg SnCl, whmwb
HCl e.Len @Ohésb Csug surfldgsuubdng. Cerod (A) Lreeren
sy @hsEdng. em gefl i H, SO, CsragnCurg Gsmwbd
(A) vauRWIEEREE 2L Ul B euamerw Gsiwb (C) s smeng erafle
(A), (B) wpmid (C) -enws sewt_hbg eSlenanseneT eT(Dg)s.

sareflor Bigsalled AR+ whmd SOI -a1 swells sLsHD SHpensar
weanGu 189 @~ @5.5%2 §. swrend~! wHMD 160 @b~ ! Q.52
&. swrend ~! o Ew. seralonr Brssdan Weaugeaiuler gwomer wHML
Cwrert sL 55 Hnoans samsdl().
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An organic compound (A) of molecular formula Cg Hg O, gives violet colour with
neutral ferric chloride. Compound (A) when refluxed with CHCl; and NaOH
gives two isomers (B) and (C). Compound (A) when added to diazomethane in
alkaline medium gives an ether (D). Identify (A), (B), (C) and (D). Explain the
reactions.

Compound (A) is an orange red crystal and also a powerful oxidising agent.
Compound (A) when treated with potassium chloride and concentrated sulphuric
acid evolves coloured gas (B). When KOH reacts with (A) an yellow solution of
(C) is obtained. Identify (A), (B) and (C). Explain the reactions.

OR

An organic compound (A) of molecular formula C, H, O is prepared by the
reduction of compound (B) of molecular formula C, Hy N dissolved in ether, with
SnCl, and HCl. Compound (A) reduces Tollen’s reagent. When a drop of conc.
H, SO, is added to compound (A), it polymerises to give a cyclic compound (C).
Identify (A), (B) and (C). Explain the reactions.

Ionic conductance at infinite dilution of Al®* and SDE_ are 189 ohm 1 cm?

gm.equiv. "1 and 160 ohm =1 cm? gm.equiv. ~1. Calculate equivalent and molar
conductance of the electrolytes at infinite dilution.
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